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BIEE A8 IR AR K BB B R
A R - BT E B & & B W =

B R 1,646,800 + 363, 260 2,010, 060
EREAGE 1, 646, 800
EEEE 363, 260
ORI 1,646,800 x 53.85% ( 35% = (1 — 35%) ) 886, 801
EBRIE 2,010,060 + 886, 801 2,896, 861
—REERE 2,896,861 x 53.85% (35% = (1 — 35%) ) — 6,820 1,553,139
ES 30k 2,896,861 + 1,553,139 4, 450, 000
HEBSFHELHM 4,450,000 x 10.00% 445,000
EHEREH 4,450,000 + 445, 000 4, 895, 000




BEARE B R 8 11 4 b I B 8 S B b P S

£ L] B - BT B s B & # B =
BRI 2,010, 060
TIE - T KERME 2,010, 060
TiE - MTFKFERPE 2,010, 060
1t FEER 1, 646, 800
RETEE 310, 600
1 fTE S 1.00 310, 600 310, 600
=
AHAE 368, 100
2 AHAE 1.00 368,100 368, 100
=
E: i 111, 600
3 BEHERE 1.00 111, 600 111, 600
=
HHha & 223, 200
4 Bia#E 1.00 223, 200 223, 200
=
EE - MESEAR 633, 300
5 EE - MESER 1.00 616, 900 616, 900
=
6 ABAMEMER 1.00 16, 400 16, 400
=
EfEER 363, 260
HERE 69, 260
1 HRERE 1.00 69, 260 69, 260
=




BERARE YES i P [ 400 e X [ P e o R R
FHERREER 294, 000
8 EFHRAFNHA 1.00 210, 000 210, 000
9 HMRKICEOMBRERE 1.00 84,000 84,000
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551
&% TS URE X%y
£ 1848 - BTk B iy g B f £ S i =
FEHER (GRED
A 1.00 58, 600. 00 58, 600
HEm (A)
A 3.00 51, 200. 00 153, 600
HEm (C)
A 3.00 32, 800. 00 98, 400
& YE%EES - 1,00 310, 600. 00 310, 600
5:2
¥ EREE 1KYy
£ 1848 - BIKTR B g B ] mE i =
HEm (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 2.50 41, 600. 00 104, 000
HEm (C)
A 3.50 32, 800. 00 114, 800
HiTR
A 2.50 29, 000. 00 72,500
& F YE%EES - 1,00 368, 100. 00 368, 100
55:3
A ¥ BT 1LY
£ 1848 - BIRTE B g B i = i =
HEm (B)
A 1.50 41, 600. 00 62, 400
HEm (C)
A 1.50 32, 800. 00 49, 200
&5 & YEEEER - 1,00 111, 600. 00 111, 600
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S:4
A ¥ B 1XHY
£ 1848 - BTk B iy B B f & % i =
HEm (B)
A 3.00 41, 600. 00 124, 800
HEm (C)
A 3.00 32, 800. 00 98, 400
& F YE%EES - 1,00 223, 200. 00 223, 200
H5:5
B EE - MEEER X%y
£ 1848 - BIKTR B w B B % % i =
FEHER (RED
A 2.50 58, 600. 00 146, 500
HEm (A)
A 2.50 51, 200. 00 128, 000
HEm (B)
A 3.50 41, 600. 00 145, 600
HEm (C)
A 6.00 32, 800. 00 196, 800
& F YE%EES - 1,00 616, 900. 00 616, 900
5:6
BFF SRR ESIER 1LY
£ 1848 - BIRTE B w B B & % i =
HEm (C)
A 0.50 32, 800. 00 16, 400
&5 & YEEEER - 1,00 16, 400. 00 16, 400
B55:1
L HERE 1%y
£ 1848 - BIKTE B w B B % % i =
HEMLE
= 1.00 69, 260. 00 69, 260
& H YEXRES - 1,00 69, 260. 00 69, 260
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E55:8
A ETFRRERIERE 1XHY
B [ R - BikTE B & B * %8 W E w =
EFHERERE
= 1.00 210, 000. 00 210, 000
a ] YE¥EER - 1.00% 210, 000. 00 210, 000
559
B MIEEIC KSR RERE 1XHY
£ i Bg - BT B & B = %8 W E ik &
HREICE DR ERIERLE
= 1.00 84, 000. 00 84, 000
= B YE¥EER - 1. 00K 84, 000. 00 84, 000




